Efficiency vs. dz (PV) [_Efficiency (tracking eff factorized out) vs. dz (PV) ]

<0.0 1.
S : . ; H H =

Efficiency (excl. trk

3] FEFFETE NS NN N A

g+
T
o
o 01 02 03 04 05 06 0% oI 0z 03 04 05 06
Cut on dz(PV) (cm) Cut on dz(PV) (cm)

—=— DQM_original_step2_tthar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
| Fake raty —~— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom

0.8

0.7

0.6

0.5

0.4

0.3]

Pileup rate vs. cut on dz(PV)

0.2

Ratio

0 01 02 03 04 05 06 0% 01 02 03 04 05 06
Cut on dz(PV) (cm) Cut on dz(PV) (cm)



	Contents
	Page 1


